D1vISION WITH A REMAINDER II (H - SET 4)

DIVISION WITH A REMAINDER Name:
Time: Score: y—
) 46166 + (—10) = 50 6259 + (—1) =
w02 72880 + (—8) = on —44105 + (—8) =
w9 482 + (—2) = 09 56327 + (—10) =

601 —28029 =4 =

w05 AR5 + 1 =

606) —14224 =+ (=7) =
607 —25222 + (=7) =
09 7234 = (—d) =
609 —23961 =+ (—10) =
610 —23467 +6 =

o) —3306 + (—3) =
62 20746 = 9 =

613) —21386 + (—4) =
614)  —18652 + 10 =

o5 38005 + 5 =

Mathematics: Division - Level 8 - Horizontal - Set 4
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36756 = 7 =
—8964 = 4 =
2083 = (—8)
8015 = (—3)

38601 + 5 =

23479 + (—3) =

37752 = (—6) =

—99869 = (—7)

—17238 =7 =

5645 + (—1)
2475 + (—9)

4521 + 2 =
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